
Initial Conditions: 

 CD3ζ LCK Phosphatase 

molecules/μm2 1 1000 10-100000 

 

Parameter Values: 

 
kcat 

(min-1) 
KM,A1 
(μm-2) 

KM,A2 
(μm-2) 

KM,B1 
(μm-2) 

KM,B2 
(μm-2) 

KM,C1 
(μm-2) 

KM,C2 
(μm-2) 

XI 

LCK 
parameters 

360 97 332 270 154 485 405 0.115 

Phosphatase 
parameters 

360 11 36 32 18 67 57 0.1 

 
Equations: 
 

𝑑𝑝𝑌𝐴1

𝑑𝑡

=  
(

𝐾𝑐𝑎𝑡
𝐾𝑀,𝐴1

⁄  ) (𝑌𝐴1)(𝐿𝐶𝐾)

1 +
𝑌𝐴1

𝐾𝑀,𝐴1
+

𝑌𝐴2
𝐾𝑀,𝐴2

+
𝑌𝐵1

𝐾𝑀,𝐵1
+

𝑌𝐵2
𝐾𝑀,𝐵2

+
𝑌𝐶1

𝐾𝑀,𝐶1
+

𝑌𝐶2
𝐾𝑀,𝐶2

+
𝑝𝑌𝐴1
𝐾𝐼,𝐴1

+
𝑝𝑌𝐴2
𝐾𝐼,𝐴2

+
𝑝𝑌𝐵1
𝐾𝐼,𝐵1

+
𝑝𝑌𝐵2
𝐾𝐼,𝐵2

+
𝑝𝑌𝐶1
𝐾𝐼,𝐶1

+
𝑝𝑌𝐶2
𝐾𝐼,𝐶2

−  
(

𝑃𝑐𝑎𝑡
𝑃𝑀,𝐴1

⁄  ) (𝑝𝑌𝐴1)(𝑃ℎ𝑜𝑠)

1 +
𝑝𝑌𝐴1
𝑃𝑀,𝐴1

+
𝑝𝑌𝐴2
𝑃𝑀,𝐴2

+
𝑝𝑌𝐵1
𝑃𝑀,𝐵1

+
𝑝𝑌𝐵2
𝑃𝑀,𝐵2

+
𝑝𝑌𝐶1

𝑃𝑀,𝐶1
+

𝑝𝑌𝐶2

𝑃𝑀,𝐶2
+

𝑌𝐴1
𝑃𝐼,𝐴1

+
𝑌𝐴2

𝑃𝐼,𝐴2
+

𝑌𝐵1
𝑃𝐼,𝐵1

+
𝑌𝐵2

𝑃𝐼,𝐵2
+

𝑌𝐶1

𝑃𝐼,𝐶1
+

𝑌𝐶2

𝑃𝐼,𝐶2

 

 
𝑑𝑌𝐴1

𝑑𝑡

=  −
(

𝐾𝑐𝑎𝑡
𝐾𝑀,𝐴1

⁄  ) (𝑌𝐴1)(𝐿𝐶𝐾)

1 +
𝑌𝐴1

𝐾𝑀,𝐴1
+

𝑌𝐴2
𝐾𝑀,𝐴2

+
𝑌𝐵1

𝐾𝑀,𝐵1
+

𝑌𝐵2
𝐾𝑀,𝐵2

+
𝑌𝐶1

𝐾𝑀,𝐶1
+

𝑌𝐶2
𝐾𝑀,𝐶2

+
𝑝𝑌𝐴1
𝐾𝐼,𝐴1

+
𝑝𝑌𝐴2
𝐾𝐼,𝐴2

+
𝑝𝑌𝐵1
𝐾𝐼,𝐵1

+
𝑝𝑌𝐵2
𝐾𝐼,𝐵2

+
𝑝𝑌𝐶1
𝐾𝐼,𝐶1

+
𝑝𝑌𝐶2
𝐾𝐼,𝐶2

+  
(

𝑃𝑐𝑎𝑡
𝑃𝑀,𝐴1

⁄  ) (𝑝𝑌𝐴1)(𝑃ℎ𝑜𝑠)

1 +
𝑝𝑌𝐴1
𝑃𝑀,𝐴1

+
𝑝𝑌𝐴2
𝑃𝑀,𝐴2

+
𝑝𝑌𝐵1
𝑃𝑀,𝐵1

+
𝑝𝑌𝐵2
𝑃𝑀,𝐵2

+
𝑝𝑌𝐶1
𝑃𝑀,𝐶1

+
𝑝𝑌𝐶2
𝑃𝑀,𝐶2

+
𝑌𝐴1

𝑃𝐼,𝐴1
+

𝑌𝐴2
𝑃𝐼,𝐴2

+
𝑌𝐵1

𝑃𝐼,𝐵1
+

𝑌𝐵2
𝑃𝐼,𝐵2

+
𝑌𝐶1

𝑃𝐼,𝐶1
+

𝑌𝐶2
𝑃𝐼,𝐶2

 

 
𝑑𝑝𝑌𝐴2

𝑑𝑡

=  
(

𝐾𝑐𝑎𝑡
𝐾𝑀,𝐴2

⁄  ) (𝑌𝐴2)(𝐿𝐶𝐾)

1 +
𝑌𝐴1

𝐾𝑀,𝐴1
+

𝑌𝐴2
𝐾𝑀,𝐴2

+
𝑌𝐵1

𝐾𝑀,𝐵1
+

𝑌𝐵2
𝐾𝑀,𝐵2

+
𝑌𝐶1

𝐾𝑀,𝐶1
+

𝑌𝐶2
𝐾𝑀,𝐶2

+
𝑝𝑌𝐴1
𝐾𝐼,𝐴1

+
𝑝𝑌𝐴2
𝐾𝐼,𝐴2

+
𝑝𝑌𝐵1
𝐾𝐼,𝐵1

+
𝑝𝑌𝐵2
𝐾𝐼,𝐵2

+
𝑝𝑌𝐶1
𝐾𝐼,𝐶1

+
𝑝𝑌𝐶2
𝐾𝐼,𝐶2

−  
(

𝑃𝑐𝑎𝑡
𝑃𝑀,𝐴2

⁄  ) (𝑝𝑌𝐴2)(𝑃ℎ𝑜𝑠)

1 +
𝑝𝑌𝐴1
𝑃𝑀,𝐴1

+
𝑝𝑌𝐴2
𝑃𝑀,𝐴2

+
𝑝𝑌𝐵1
𝑃𝑀,𝐵1

+
𝑝𝑌𝐵2
𝑃𝑀,𝐵2

+
𝑝𝑌𝐶1
𝑃𝑀,𝐶1

+
𝑝𝑌𝐶2
𝑃𝑀,𝐶2

+
𝑌𝐴1

𝑃𝐼,𝐴1
+

𝑌𝐴2
𝑃𝐼,𝐴2

+
𝑌𝐵1

𝑃𝐼,𝐵1
+

𝑌𝐵2
𝑃𝐼,𝐵2

+
𝑌𝐶1

𝑃𝐼,𝐶1
+

𝑌𝐶2
𝑃𝐼,𝐶2

 

 



𝑑𝑌𝐴2

𝑑𝑡

=  − 
(

𝐾𝑐𝑎𝑡
𝐾𝑀,𝐴2

⁄  ) (𝑌𝐴2)(𝐿𝐶𝐾)

1 +
𝑌𝐴1

𝐾𝑀,𝐴1
+

𝑌𝐴2
𝐾𝑀,𝐴2

+
𝑌𝐵1

𝐾𝑀,𝐵1
+

𝑌𝐵2
𝐾𝑀,𝐵2

+
𝑌𝐶1

𝐾𝑀,𝐶1
+

𝑌𝐶2
𝐾𝑀,𝐶2

+
𝑝𝑌𝐴1
𝐾𝐼,𝐴1

+
𝑝𝑌𝐴2
𝐾𝐼,𝐴2

+
𝑝𝑌𝐵1
𝐾𝐼,𝐵1

+
𝑝𝑌𝐵2
𝐾𝐼,𝐵2

+
𝑝𝑌𝐶1
𝐾𝐼,𝐶1

+
𝑝𝑌𝐶2
𝐾𝐼,𝐶2

+  
(

𝑃𝑐𝑎𝑡
𝑃𝑀,𝐴2

⁄  ) (𝑝𝑌𝐴2)(𝑃ℎ𝑜𝑠)

1 +
𝑝𝑌𝐴1
𝑃𝑀,𝐴1

+
𝑝𝑌𝐴2
𝑃𝑀,𝐴2

+
𝑝𝑌𝐵1
𝑃𝑀,𝐵1

+
𝑝𝑌𝐵2
𝑃𝑀,𝐵2

+
𝑝𝑌𝐶1
𝑃𝑀,𝐶1

+
𝑝𝑌𝐶2
𝑃𝑀,𝐶2

+
𝑌𝐴1

𝑃𝐼,𝐴1
+

𝑌𝐴2
𝑃𝐼,𝐴2

+
𝑌𝐵1

𝑃𝐼,𝐵1
+

𝑌𝐵2
𝑃𝐼,𝐵2

+
𝑌𝐶1

𝑃𝐼,𝐶1
+

𝑌𝐶2
𝑃𝐼,𝐶2

 

 
𝑑𝑝𝑌𝐵1

𝑑𝑡

=  
(

𝐾𝑐𝑎𝑡
𝐾𝑀,𝐵1

⁄  ) (𝑌𝐵1)(𝐿𝐶𝐾)

1 +
𝑌𝐴1

𝐾𝑀,𝐴1
+

𝑌𝐴2
𝐾𝑀,𝐴2

+
𝑌𝐵1

𝐾𝑀,𝐵1
+

𝑌𝐵2
𝐾𝑀,𝐵2

+
𝑌𝐶1

𝐾𝑀,𝐶1
+

𝑌𝐶2
𝐾𝑀,𝐶2

+
𝑝𝑌𝐴1
𝐾𝐼,𝐴1

+
𝑝𝑌𝐴2
𝐾𝐼,𝐴2

+
𝑝𝑌𝐵1
𝐾𝐼,𝐵1

+
𝑝𝑌𝐵2
𝐾𝐼,𝐵2

+
𝑝𝑌𝐶1
𝐾𝐼,𝐶1

+
𝑝𝑌𝐶2
𝐾𝐼,𝐶2

−  
(

𝑃𝑐𝑎𝑡
𝑃𝑀,𝐵1

⁄  ) (𝑝𝑌𝐵1)(𝑃ℎ𝑜𝑠)

1 +
𝑝𝑌𝐴1
𝑃𝑀,𝐴1

+
𝑝𝑌𝐴2
𝑃𝑀,𝐴2

+
𝑝𝑌𝐵1
𝑃𝑀,𝐵1

+
𝑝𝑌𝐵2
𝑃𝑀,𝐵2

+
𝑝𝑌𝐶1
𝑃𝑀,𝐶1

+
𝑝𝑌𝐶2
𝑃𝑀,𝐶2

+
𝑌𝐴1

𝑃𝐼,𝐴1
+

𝑌𝐴2
𝑃𝐼,𝐴2

+
𝑌𝐵1

𝑃𝐼,𝐵1
+

𝑌𝐵2
𝑃𝐼,𝐵2

+
𝑌𝐶1

𝑃𝐼,𝐶1
+

𝑌𝐶2
𝑃𝐼,𝐶2

 

 
𝑑𝑌𝐵1

𝑑𝑡

= − 
(

𝐾𝑐𝑎𝑡
𝐾𝑀,𝐵1

⁄  ) (𝑌𝐵1)(𝐿𝐶𝐾)

1 +
𝑌𝐴1

𝐾𝑀,𝐴1
+

𝑌𝐴2
𝐾𝑀,𝐴2

+
𝑌𝐵1

𝐾𝑀,𝐵1
+

𝑌𝐵2
𝐾𝑀,𝐵2

+
𝑌𝐶1

𝐾𝑀,𝐶1
+

𝑌𝐶2
𝐾𝑀,𝐶2

+
𝑝𝑌𝐴1
𝐾𝐼,𝐴1

+
𝑝𝑌𝐴2
𝐾𝐼,𝐴2

+
𝑝𝑌𝐵1
𝐾𝐼,𝐵1

+
𝑝𝑌𝐵2
𝐾𝐼,𝐵2

+
𝑝𝑌𝐶1
𝐾𝐼,𝐶1

+
𝑝𝑌𝐶2
𝐾𝐼,𝐶2

+  
(

𝑃𝑐𝑎𝑡
𝑃𝑀,𝐵1

⁄  ) (𝑝𝑌𝐵1)(𝑃ℎ𝑜𝑠)

1 +
𝑝𝑌𝐴1
𝑃𝑀,𝐴1

+
𝑝𝑌𝐴2
𝑃𝑀,𝐴2

+
𝑝𝑌𝐵1
𝑃𝑀,𝐵1

+
𝑝𝑌𝐵2
𝑃𝑀,𝐵2

+
𝑝𝑌𝐶1
𝑃𝑀,𝐶1

+
𝑝𝑌𝐶2
𝑃𝑀,𝐶2

+
𝑌𝐴1

𝑃𝐼,𝐴1
+

𝑌𝐴2
𝑃𝐼,𝐴2

+
𝑌𝐵1

𝑃𝐼,𝐵1
+

𝑌𝐵2
𝑃𝐼,𝐵2

+
𝑌𝐶1

𝑃𝐼,𝐶1
+

𝑌𝐶2
𝑃𝐼,𝐶2

 

 
𝑑𝑝𝑌𝐵2

𝑑𝑡

=  
(

𝐾𝑐𝑎𝑡
𝐾𝑀,𝐵2

⁄  ) (𝑌𝐵2)(𝐿𝐶𝐾)

1 +
𝑌𝐴1

𝐾𝑀,𝐴1
+

𝑌𝐴2
𝐾𝑀,𝐴2

+
𝑌𝐵1

𝐾𝑀,𝐵1
+

𝑌𝐵2
𝐾𝑀,𝐵2

+
𝑌𝐶1

𝐾𝑀,𝐶1
+

𝑌𝐶2
𝐾𝑀,𝐶2

+
𝑝𝑌𝐴1
𝐾𝐼,𝐴1

+
𝑝𝑌𝐴2
𝐾𝐼,𝐴2

+
𝑝𝑌𝐵1
𝐾𝐼,𝐵1

+
𝑝𝑌𝐵2
𝐾𝐼,𝐵2

+
𝑝𝑌𝐶1
𝐾𝐼,𝐶1

+
𝑝𝑌𝐶2
𝐾𝐼,𝐶2

−  
(

𝑃𝑐𝑎𝑡
𝑃𝑀,𝐵2

⁄  ) (𝑝𝑌𝐵2)(𝑃ℎ𝑜𝑠)

1 +
𝑝𝑌𝐴1
𝑃𝑀,𝐴1

+
𝑝𝑌𝐴2
𝑃𝑀,𝐴2

+
𝑝𝑌𝐵1
𝑃𝑀,𝐵1

+
𝑝𝑌𝐵2
𝑃𝑀,𝐵2

+
𝑝𝑌𝐶1
𝑃𝑀,𝐶1

+
𝑝𝑌𝐶2
𝑃𝑀,𝐶2

+
𝑌𝐴1

𝑃𝐼,𝐴1
+

𝑌𝐴2
𝑃𝐼,𝐴2

+
𝑌𝐵1

𝑃𝐼,𝐵1
+

𝑌𝐵2
𝑃𝐼,𝐵2

+
𝑌𝐶1

𝑃𝐼,𝐶1
+

𝑌𝐶2
𝑃𝐼,𝐶2

 

 
𝑑𝑌𝐵2

𝑑𝑡

= − 
(

𝐾𝑐𝑎𝑡
𝐾𝑀,𝐵2

⁄  ) (𝑌𝐵2)(𝐿𝐶𝐾)

1 +
𝑌𝐴1

𝐾𝑀,𝐴1
+

𝑌𝐴2
𝐾𝑀,𝐴2

+
𝑌𝐵1

𝐾𝑀,𝐵1
+

𝑌𝐵2
𝐾𝑀,𝐵2

+
𝑌𝐶1

𝐾𝑀,𝐶1
+

𝑌𝐶2
𝐾𝑀,𝐶2

+
𝑝𝑌𝐴1
𝐾𝐼,𝐴1

+
𝑝𝑌𝐴2
𝐾𝐼,𝐴2

+
𝑝𝑌𝐵1
𝐾𝐼,𝐵1

+
𝑝𝑌𝐵2
𝐾𝐼,𝐵2

+
𝑝𝑌𝐶1
𝐾𝐼,𝐶1

+
𝑝𝑌𝐶2
𝐾𝐼,𝐶2

+  
(

𝑃𝑐𝑎𝑡
𝑃𝑀,𝐵2

⁄  ) (𝑝𝑌𝐵2)(𝑃ℎ𝑜𝑠)

1 +
𝑝𝑌𝐴1
𝑃𝑀,𝐴1

+
𝑝𝑌𝐴2
𝑃𝑀,𝐴2

+
𝑝𝑌𝐵1
𝑃𝑀,𝐵1

+
𝑝𝑌𝐵2
𝑃𝑀,𝐵2

+
𝑝𝑌𝐶1

𝑃𝑀,𝐶1
+

𝑝𝑌𝐶2

𝑃𝑀,𝐶2
+

𝑌𝐴1
𝑃𝐼,𝐴1

+
𝑌𝐴2

𝑃𝐼,𝐴2
+

𝑌𝐵1
𝑃𝐼,𝐵1

+
𝑌𝐵2

𝑃𝐼,𝐵2
+

𝑌𝐶1

𝑃𝐼,𝐶1
+

𝑌𝐶2

𝑃𝐼,𝐶2

 



 
𝑑𝑝𝑌𝐶1

𝑑𝑡

=  
(

𝐾𝑐𝑎𝑡
𝐾𝑀,𝐶1

⁄  ) (𝑌𝐶1)(𝐿𝐶𝐾)

1 +
𝑌𝐴1

𝐾𝑀,𝐴1
+

𝑌𝐴2
𝐾𝑀,𝐴2

+
𝑌𝐵1

𝐾𝑀,𝐵1
+

𝑌𝐵2
𝐾𝑀,𝐵2

+
𝑌𝐶1

𝐾𝑀,𝐶1
+

𝑌𝐶2
𝐾𝑀,𝐶2

+
𝑝𝑌𝐴1
𝐾𝐼,𝐴1

+
𝑝𝑌𝐴2
𝐾𝐼,𝐴2

+
𝑝𝑌𝐵1
𝐾𝐼,𝐵1

+
𝑝𝑌𝐵2
𝐾𝐼,𝐵2

+
𝑝𝑌𝐶1
𝐾𝐼,𝐶1

+
𝑝𝑌𝐶2
𝐾𝐼,𝐶2

−  
(

𝑃𝑐𝑎𝑡
𝑃𝑀,𝐶1

⁄  ) (𝑝𝑌𝐶1)(𝑃ℎ𝑜𝑠)

1 +
𝑝𝑌𝐴1
𝑃𝑀,𝐴1

+
𝑝𝑌𝐴2
𝑃𝑀,𝐴2

+
𝑝𝑌𝐵1
𝑃𝑀,𝐵1

+
𝑝𝑌𝐵2
𝑃𝑀,𝐵2

+
𝑝𝑌𝐶1
𝑃𝑀,𝐶1

+
𝑝𝑌𝐶2
𝑃𝑀,𝐶2

+
𝑌𝐴1

𝑃𝐼,𝐴1
+

𝑌𝐴2
𝑃𝐼,𝐴2

+
𝑌𝐵1

𝑃𝐼,𝐵1
+

𝑌𝐵2
𝑃𝐼,𝐵2

+
𝑌𝐶1

𝑃𝐼,𝐶1
+

𝑌𝐶2
𝑃𝐼,𝐶2

 

 
𝑑𝑌𝐶1

𝑑𝑡

= − 
(

𝐾𝑐𝑎𝑡
𝐾𝑀,𝐶1

⁄  ) (𝑌𝐶1)(𝐿𝐶𝐾)

1 +
𝑌𝐴1

𝐾𝑀,𝐴1
+

𝑌𝐴2
𝐾𝑀,𝐴2

+
𝑌𝐵1

𝐾𝑀,𝐵1
+

𝑌𝐵2
𝐾𝑀,𝐵2

+
𝑌𝐶1

𝐾𝑀,𝐶1
+

𝑌𝐶2
𝐾𝑀,𝐶2

+
𝑝𝑌𝐴1
𝐾𝐼,𝐴1

+
𝑝𝑌𝐴2
𝐾𝐼,𝐴2

+
𝑝𝑌𝐵1
𝐾𝐼,𝐵1

+
𝑝𝑌𝐵2
𝐾𝐼,𝐵2

+
𝑝𝑌𝐶1
𝐾𝐼,𝐶1

+
𝑝𝑌𝐶2
𝐾𝐼,𝐶2

+  
(

𝑃𝑐𝑎𝑡
𝑃𝑀,𝐶1

⁄  ) (𝑝𝑌𝐶1)(𝑃ℎ𝑜𝑠)

1 +
𝑝𝑌𝐴1
𝑃𝑀,𝐴1

+
𝑝𝑌𝐴2
𝑃𝑀,𝐴2

+
𝑝𝑌𝐵1
𝑃𝑀,𝐵1

+
𝑝𝑌𝐵2
𝑃𝑀,𝐵2

+
𝑝𝑌𝐶1
𝑃𝑀,𝐶1

+
𝑝𝑌𝐶2
𝑃𝑀,𝐶2

+
𝑌𝐴1

𝑃𝐼,𝐴1
+

𝑌𝐴2
𝑃𝐼,𝐴2

+
𝑌𝐵1

𝑃𝐼,𝐵1
+

𝑌𝐵2
𝑃𝐼,𝐵2

+
𝑌𝐶1

𝑃𝐼,𝐶1
+

𝑌𝐶2
𝑃𝐼,𝐶2

 

 
𝑑𝑝𝑌𝐶2

𝑑𝑡

=  
(

𝐾𝑐𝑎𝑡
𝐾𝑀,𝐶2

⁄  ) (𝑌𝐶2)(𝐿𝐶𝐾)

1 +
𝑌𝐴1

𝐾𝑀,𝐴1
+

𝑌𝐴2
𝐾𝑀,𝐴2

+
𝑌𝐵1

𝐾𝑀,𝐵1
+

𝑌𝐵2
𝐾𝑀,𝐵2

+
𝑌𝐶1

𝐾𝑀,𝐶1
+

𝑌𝐶2
𝐾𝑀,𝐶2

+
𝑝𝑌𝐴1
𝐾𝐼,𝐴1

+
𝑝𝑌𝐴2
𝐾𝐼,𝐴2

+
𝑝𝑌𝐵1
𝐾𝐼,𝐵1

+
𝑝𝑌𝐵2
𝐾𝐼,𝐵2

+
𝑝𝑌𝐶1
𝐾𝐼,𝐶1

+
𝑝𝑌𝐶2
𝐾𝐼,𝐶2

−  
(

𝑃𝑐𝑎𝑡
𝑃𝑀,𝐶2

⁄  ) (𝑝𝑌𝐶2)(𝑃ℎ𝑜𝑠)

1 +
𝑝𝑌𝐴1
𝑃𝑀,𝐴1

+
𝑝𝑌𝐴2
𝑃𝑀,𝐴2

+
𝑝𝑌𝐵1
𝑃𝑀,𝐵1

+
𝑝𝑌𝐵2
𝑃𝑀,𝐵2

+
𝑝𝑌𝐶1
𝑃𝑀,𝐶1

+
𝑝𝑌𝐶2
𝑃𝑀,𝐶2

+
𝑌𝐴1

𝑃𝐼,𝐴1
+

𝑌𝐴2
𝑃𝐼,𝐴2

+
𝑌𝐵1

𝑃𝐼,𝐵1
+

𝑌𝐵2
𝑃𝐼,𝐵2

+
𝑌𝐶1

𝑃𝐼,𝐶1
+

𝑌𝐶2
𝑃𝐼,𝐶2

 

 
𝑑𝑌𝐶2

𝑑𝑡

= − 
(

𝐾𝑐𝑎𝑡
𝐾𝑀,𝐶2

⁄  ) (𝑌𝐶2)(𝐿𝐶𝐾)

1 +
𝑌𝐴1

𝐾𝑀,𝐴1
+

𝑌𝐴2
𝐾𝑀,𝐴2

+
𝑌𝐵1

𝐾𝑀,𝐵1
+

𝑌𝐵2
𝐾𝑀,𝐵2

+
𝑌𝐶1

𝐾𝑀,𝐶1
+

𝑌𝐶2
𝐾𝑀,𝐶2

+
𝑝𝑌𝐴1
𝐾𝐼,𝐴1

+
𝑝𝑌𝐴2
𝐾𝐼,𝐴2

+
𝑝𝑌𝐵1
𝐾𝐼,𝐵1

+
𝑝𝑌𝐵2
𝐾𝐼,𝐵2

+
𝑝𝑌𝐶1
𝐾𝐼,𝐶1

+
𝑝𝑌𝐶2
𝐾𝐼,𝐶2

+  
(

𝑃𝑐𝑎𝑡
𝑃𝑀,𝐶2

⁄  ) (𝑝𝑌𝐶2)(𝑃ℎ𝑜𝑠)

1 +
𝑝𝑌𝐴1
𝑃𝑀,𝐴1

+
𝑝𝑌𝐴2
𝑃𝑀,𝐴2

+
𝑝𝑌𝐵1
𝑃𝑀,𝐵1

+
𝑝𝑌𝐵2
𝑃𝑀,𝐵2

+
𝑝𝑌𝐶1
𝑃𝑀,𝐶1

+
𝑝𝑌𝐶2
𝑃𝑀,𝐶2

+
𝑌𝐴1

𝑃𝐼,𝐴1
+

𝑌𝐴2
𝑃𝐼,𝐴2

+
𝑌𝐵1

𝑃𝐼,𝐵1
+

𝑌𝐵2
𝑃𝐼,𝐵2

+
𝑌𝐶1

𝑃𝐼,𝐶1
+

𝑌𝐶2
𝑃𝐼,𝐶2

 


